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Fifth Semester B.E. Degree Examinafioh; June/July 2023
Information Theory,and Goding

rime: 3 hrs. " ;i{i'; 
'

Max. Marks: 100

Note: Answer any FIVE full questions, chddb4.p,E ONE full question fya r":each module,
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Consider a discrete memory e with source alphabet
S = {So, Sl, Sz} with source statistics {0.7,0.15,0.15}

i) Calculate the entropybfffi"urce 
r(i, Calculate the entrqpy,=*dmthe second order exte,,gq,lgn of the source. (10 Marks)

OR
Explain the propffi of Entropy (10 Marks)

Write short not€fudteasure of informati and information ratio? (10 Marks)
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ExplainB,lpdk code, Non singular e6{e Instantaneous code, Optimal code. (10 Marks)

Aoolv Shahnon's encodine binar#aliorithm the followins. set of message and obtain codeAp'pt${,,,,$},; 
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encodurg 6'inarfalgorithm the followingrit of message and obtain code
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.,' Fig Qs(b)
, Find tharnissing probabilities (*) in the table

i,) F.F,,frH(bzla) and P(arlb:)
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OR
For JPM given below, compute H(x), H(y), H(x, y), H(/yl,;=,*6y/x) and I(x, y)' Verify the

relationship among these entropies -S5'[o.os o o.2o o.o5l - *s&
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Explain Binary Symmetric Channel (BSC)=. Affi$"Binary Erasure ChannellBEc) (10 Marks)
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ModuIo-4
Explain different types of Error. * 

"'\h"; (10 Marks)

fxpUin different mithods of controllftr,p error. - 
(10 Marks)

.==i&;:'*= oo #=
Explain in detail Linear bloch db. *" .' (10 Marks)

For systematic (7,4) linear qLd-qk code, the parity mafrixP is given by
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(10 Marks)

,s,

i)
ii) Dr=s =thJ corresponding enco,$ing'circuits. (10 Marks)

g a. rxpidffi detail Golay code? fu...,. , 't&P' (10 Marks)

shown belovfig Q9(b). ExPlaib. An Encoder for (n, k, m) : (3, 1, 3) convoluttgr:. shown below,'Ftg Q9(b). Bxplaln

operation of Encoder atffie. Obtain the
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l0 tr':. .., us consider (ffi, m) as (2, 1: 3), oonvolution at encoder shown in Fig Q10(b).

$Fina Encoder outF#ing time domairyapproach for message sequence 10111?
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Fig Q10(b)
b. Explain.Encoding of convolutional at using Transform domain approach with example.

(10 Marks)
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